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MATHS

BOOKS - BETOPPERS

RATIO AND PROPORTION

Formative Worksheet

1. There are 20 girls and 15 boys in a class.

What is the ratio of number of girls to the

number of boys ?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_M9KsaYmsiqbb

° Watch Video Solution

2. There are 20 girls and 15 boys in a class.
What is the ratio of number of girls to the

total number of students in the class?

° Watch Video Solution

3. Out of 30 students in a class, 6 like football,

12 like cricket and remaining like tennis.


https://dl.doubtnut.com/l/_M9KsaYmsiqbb
https://dl.doubtnut.com/l/_fuuPH3vLQxVp
https://dl.doubtnut.com/l/_pJWdzd7zZH58

Find the ratio of :
Number of students liking football to number

of students liking tennis.

o Watch Video Solution

4. Out of 30 students in a class, 6 like football,

12 like cricket and remaining like tennis.


https://dl.doubtnut.com/l/_pJWdzd7zZH58
https://dl.doubtnut.com/l/_t1AD4MCyAszy

Find the ratio of :
Number of students liking cricket to total

number of students.

o Watch Video Solution

5. See the figure and find the ratio of :

Number of triangles to the number of circles


https://dl.doubtnut.com/l/_t1AD4MCyAszy
https://dl.doubtnut.com/l/_BslpuGgpQqXs

inside the rectangle.
|
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o Watch Video Solution

6. See the figure and find the ratio of :

Number of squares to all the figures inside the


https://dl.doubtnut.com/l/_BslpuGgpQqXs
https://dl.doubtnut.com/l/_WBuzIuEObUh4

rectangle.
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° Watch Video Solution

7.See the figure and find the ratio of :

Number of circles to all the figures inside the


https://dl.doubtnut.com/l/_WBuzIuEObUh4
https://dl.doubtnut.com/l/_lc7wHkuqMaGh

rectangle.

° Watch Video Solution

8. Distance travelled by Hamid and Akhtar in
an hour are 9 km and 12 km. Find the ratio of

speed of Hamid to the speed of Akhtar.

° Watch Video Solution



https://dl.doubtnut.com/l/_lc7wHkuqMaGh
https://dl.doubtnut.com/l/_pLcdQ3EhsodV

9. Fill in the following blanks
15 [ 10 []

18 6 O 30

[Are these equivalents ratio ?]

o Watch Video Solution

10. Find the ratio of the following :

81to 108

o Watch Video Solution



https://dl.doubtnut.com/l/_rYxLLZVuSYn8
https://dl.doubtnut.com/l/_10DUJn4IPGU8

11. Find the ratio of the following :

98 to 63

o Watch Video Solution

12. Find the ratio of the following :

33 km to 121 km

o Watch Video Solution



https://dl.doubtnut.com/l/_WtF3JozdJU6U
https://dl.doubtnut.com/l/_PftieCbtxKwS

13. Find the ratio of the following :

30 minutes to 45 minutes

° Watch Video Solution

14. In a year, Seema earns Rs. 1,50,000 and
saves Rs. 50,000. Find the ratio of :
Money that Seema earns to the money she

saves.

o Watch Video Solution



https://dl.doubtnut.com/l/_6utwuPVBZlVz
https://dl.doubtnut.com/l/_xjpd6dXcUuOl
https://dl.doubtnut.com/l/_tQeZhSGTYEym

15. In a year, Seema earns Rs. 1,50,000 and
saves Rs. 50,000. Find the ratio of :
Money that she saves to the money she

spends.

o Watch Video Solution

16. Out of 1800 students in a schools, 750
opted basketball, 800 opted «cricket and
remaining opted table tennis. If a student can

only one game, find the ratio of :


https://dl.doubtnut.com/l/_tQeZhSGTYEym
https://dl.doubtnut.com/l/_kfe0SYnoHlbW

Number of students who opted basketball to

number of students who opted table tennis.

° Watch Video Solution

17. Out of 1800 students in a schools, 750
opted basketball, 800 opted cricket and
remaining opted table tennis. If a student can
only one game, find the ratio of :

Number of students who opted cricket to the

number of students who opted basketball.

° Watch Video Solution



https://dl.doubtnut.com/l/_kfe0SYnoHlbW
https://dl.doubtnut.com/l/_XFQZOLDoTXPf

18. Out of 1800 students in a schools, 750
opted basketball, 800 opted «cricket and
remaining opted table tennis. If a student can
only one game, find the ratio of :

Number of students who opted basketball to

the total number of students.

o Watch Video Solution

19. Consider the statement: Ratio of breadth

and length of a hall is 2 : 5. Complete the


https://dl.doubtnut.com/l/_XFQZOLDoTXPf
https://dl.doubtnut.com/l/_R0IWecHsHd9f
https://dl.doubtnut.com/l/_U7MN8tKuiJkL

following table that shows some possible

breadth and lengths of the hall.

Breadth of the hall io metres)| 10 | [ | | 40
Length of the hall (in metres) [25 | 50 |[ |

o Watch Video Solution

20. Present age of father is 42 years and his
son is 14 years. Find the ratio of :
Present age of father to the present age of

son.

o Watch Video Solution



https://dl.doubtnut.com/l/_U7MN8tKuiJkL
https://dl.doubtnut.com/l/_gZ9MHtBQVIjH

21. Present age of father is 42 years and his
son is 14 years. Find the ratio of :
Age of the father to the age of son, when son

was 12 years old.

o Watch Video Solution

22. Present age of father is 42 years and his
son is 14 years. Find the ratio of :
Age of father after 10 years to the age of son

after 10 years.

| & I


https://dl.doubtnut.com/l/_LngoyMRnZGwm
https://dl.doubtnut.com/l/_Ir6RiP29gt3y

| ¥ Watch Video Solution |

23. Present age of father is 42 years and his
son is 14 years. Find the ratio of :
Age of father to the age of son when father

was 30 years old.

° Watch Video Solution

24. Determine if the following are in
proportion :

15: 45,40: 120


https://dl.doubtnut.com/l/_Ir6RiP29gt3y
https://dl.doubtnut.com/l/_h2yIERN2BuO4
https://dl.doubtnut.com/l/_nL7Z76nzX2NX

° Watch Video Solution

25. Determine if the following are in
proportion :

33:121, 9:96

° Watch Video Solution

26. Determine if the following are in
proportion :

24: 28,36:48

| e |


https://dl.doubtnut.com/l/_nL7Z76nzX2NX
https://dl.doubtnut.com/l/_ZeZRXQaRxv7U
https://dl.doubtnut.com/l/_jWbm1QQveRyr

& Wwatch Video Solution ]

27. Determine if the following are in
proportion :

32:48, 70 :21

° Watch Video Solution

28. Determine if the following are in
proportion :

4:6,8:12

l ° Watch Video Solution


https://dl.doubtnut.com/l/_jWbm1QQveRyr
https://dl.doubtnut.com/l/_vdXZi08YsIse
https://dl.doubtnut.com/l/_SNAMoq4xVwxf

29. Determine if the following are in
proportion :

33:44,75:100

° Watch Video Solution

30. Write True (T) or False (F) against each of
the following statements.

16:24 :: 20: 30

° Watch Video Solution



https://dl.doubtnut.com/l/_SNAMoq4xVwxf
https://dl.doubtnut.com/l/_8bHiACMXzj4G
https://dl.doubtnut.com/l/_wARLN0DXVLIg

31. Write True (T) or False (F) against each of
the following statements.

21:6:35:10

° Watch Video Solution

32. Write True (T) or False (F) against each of
the following statements.

12:18:: 28 : 12

° Watch Video Solution



https://dl.doubtnut.com/l/_wARLN0DXVLIg
https://dl.doubtnut.com/l/_w2X6ccdz9Uc3
https://dl.doubtnut.com/l/_fopsItsjykuV

33. Write True (T) or False (F) against each of
the following statements.

8:9::24:27

° Watch Video Solution

34. Write True (T) or False (F) against each of
the following statements.

52:39:3:4

° Watch Video Solution



https://dl.doubtnut.com/l/_fopsItsjykuV
https://dl.doubtnut.com/l/_KVmhnuJIhhBp
https://dl.doubtnut.com/l/_Kirvgfo2tzYS

35. Write True (T) or False (F) against each of
the following statements.

09:036::10:4

o Watch Video Solution

36. Are the following statements true ?

40 persons : 200 persons =Rs.15: Rs. 75

° Watch Video Solution



https://dl.doubtnut.com/l/_RonHhVRzRfPM
https://dl.doubtnut.com/l/_xZi41CUy90Mu

37. Are the following statements true ?

7.5 litres : 15 litres = 5 kg : 10 kg

o Watch Video Solution

38. Are the following statements true ?

99 kg : 45 kg =Rs. 44 : Rs. 20

o Watch Video Solution



https://dl.doubtnut.com/l/_Iilngz9ZuzGi
https://dl.doubtnut.com/l/_GYALxivGhb35

39. Are the following statements true ?

45 km : 60 km =12 hours : 15 hours.

° Watch Video Solution

40. Determine if the following ratios form a
proportion. Also, write the middle terms and
extreme terms where the ratios form a
proportion.

(a) 25 cm: 1 m and Rs. 40: Rs.160

° Watch Video Solution



https://dl.doubtnut.com/l/_c2A0cWcFXvAY
https://dl.doubtnut.com/l/_zX8w255Z4PJE

41. Determine if the following ratios form a
proportion. Also, write the middle terms and
extreme terms where the ratios form a
proportion.

39 litres : 65 litres and 6 bottles : 10 bottles

o Watch Video Solution

42. Determine if the following ratios form a
proportion. Also, write the middle terms and

extreme terms where the ratios form a


https://dl.doubtnut.com/l/_zX8w255Z4PJE
https://dl.doubtnut.com/l/_XMSc4PJwgpUZ
https://dl.doubtnut.com/l/_h9UdvrmZpvQq

proportion.

2kg:80kgand 25g:625g

° Watch Video Solution

43. A total of 700 biscuits are to be distributed
to 3 boys Ali, Ram and John. The number of
biscuits received by Ali and Ram are in the
ratio of 2 : 3 and the number received by John
and Ram are in the ratio of 5 : 4. Find the

number of biscuits received by each of them.

° Watch Video Solution



https://dl.doubtnut.com/l/_h9UdvrmZpvQq
https://dl.doubtnut.com/l/_uezMrLUSuvMK

44. If the cost of 7m of cloth is Rs. 294, find the

cost of 5m of cloth.

° Watch Video Solution

45. Ekta earns Rs. 1500 in 10 days. How much

she wil earn in 30 days ?

o Watch Video Solution



https://dl.doubtnut.com/l/_uezMrLUSuvMK
https://dl.doubtnut.com/l/_rvsg2Wi54lcm
https://dl.doubtnut.com/l/_5KFw1pytc00u

46. If it has rained 276 mm in the last 3 days,
how many cm of rain will fall in one full week
(7 days) ? Assume that the rain continues to

fall at the same rate.

° Watch Video Solution

47. Cost of 5 kg of wheat is Rs. 30.50.

What will be the cost of 8 kg of wheat ?

o Watch Video Solution



https://dl.doubtnut.com/l/_e1PUbmagisVT
https://dl.doubtnut.com/l/_UgRhjhLIXIYv
https://dl.doubtnut.com/l/_lIMKZTLNsCSE

48. Cost of 5 kg of wheat is Rs. 30.50.
What quantity of wheat can be purchased in

Rs.61?

o Watch Video Solution

49, Shaina pays Rs. 7500 as rent for 3 months.
How much does she have to pay for a whole

year, if the rent per month remains same ?

o Watch Video Solution



https://dl.doubtnut.com/l/_lIMKZTLNsCSE
https://dl.doubtnut.com/l/_ul4Vnz1VWXcR
https://dl.doubtnut.com/l/_t3cCWuRbLvdw

50. Cost of 4 dozens of banana is Rs. 60. How

many bananas can be purchased for Rs. 12.50.

° Watch Video Solution

51. The weight of 72 books is 9kg. What is the

weight of 40 such books ?

o Watch Video Solution

52. Raju purchases 10 pens for Rs. 150 and

Manish buys 7 pens Rs. 84. Can you say who


https://dl.doubtnut.com/l/_t3cCWuRbLvdw
https://dl.doubtnut.com/l/_X7Ou9LA2uM1R
https://dl.doubtnut.com/l/_38heYv64pWAQ

got the pens cheaper ?

o Watch Video Solution

53. Anish made 42 runs in 6 overs and Anup
made 63 runs in 7 overs. Who made more runs

per over ?

o Watch Video Solution

54, Cost of 20 metres of cloth is Rs. 1500. Find

the cost of 12 metres of cloth.


https://dl.doubtnut.com/l/_38heYv64pWAQ
https://dl.doubtnut.com/l/_gNJTj177roVk
https://dl.doubtnut.com/l/_z5PLB5v7QgrJ

° Watch Video Solution

55. A bus covers a distance of 550 km in 5
hours.

How far will it go in 7 hours?

° Watch Video Solution

56. A bus covers a distance of 550 km in 5

hours.


https://dl.doubtnut.com/l/_z5PLB5v7QgrJ
https://dl.doubtnut.com/l/_IN0gtvfJuF1T
https://dl.doubtnut.com/l/_3WEymfvtOT4o

How much time will it take to cover a distance

of 3080 km?

° Watch Video Solution

57. A train takes 6 hours to cover 300 km. How

much distance will it cover in 9 hours?

o Watch Video Solution

58. The weight of 24 similar books is 15 kg. Find

the weight of 16 similar books.


https://dl.doubtnut.com/l/_3WEymfvtOT4o
https://dl.doubtnut.com/l/_7xlGf7AWhOdD
https://dl.doubtnut.com/l/_wQjHpjkw13Jx

° Watch Video Solution

59. A family consumes 135 litres of milk in 45
days. How much milk will it consume in 18

days?

° Watch Video Solution

Conceptive Worksheet



https://dl.doubtnut.com/l/_wQjHpjkw13Jx
https://dl.doubtnut.com/l/_bK6BzBa5rg7W

1. Two boys weigh 25 kg and 20 kg. Find the

ratio of their weights.

° Watch Video Solution

2. The volume of water in two containers are 3
litres and 1,500 ml. Find the ratio of the

volumes of water.

° Watch Video Solution



https://dl.doubtnut.com/l/_qepKYAp8yjLL
https://dl.doubtnut.com/l/_uWB7dRMc8lLo

3. Determine whether the following ratios are

equivalent ratios 2 : 3 and 10: 15.

o Watch Video Solution

4. Find the ratio of the following :

30 minutes to 1.5 hours

o Watch Video Solution



https://dl.doubtnut.com/l/_cWUdRLaipzNF
https://dl.doubtnut.com/l/_Prfi04Nbvc5Z

5. Find the ratio of the following :

40cmto 1.5 m

o Watch Video Solution

6. Find the ratio of the following :

55 paise to Re. 1

o Watch Video Solution



https://dl.doubtnut.com/l/_l123kaIB5RkW
https://dl.doubtnut.com/l/_SvLx3ZWkm5Xv

7.Find the ratio of the following :

500 ml to 2 litre

° Watch Video Solution

8. There are 102 teachers in a school of 3300

students. Find ratio of the number of teachers

to the number of students.

° Watch Video Solution



https://dl.doubtnut.com/l/_xtczYFkNegQC
https://dl.doubtnut.com/l/_1rQ6BGeZkpXD

9. In a college out of 4320 students, 2300 are
girls. Find the ratio of :
Number of girls to the total number of

students.

° Watch Video Solution

10. In a college out of 4320 students, 2300 are
girls. Find the ratio of :

Number of boys to the number of girls.

° Watch Video Solution



https://dl.doubtnut.com/l/_7QwA7zciHio7
https://dl.doubtnut.com/l/_Ahr1SHU2VEwX

1. In a college out of 4320 students, 2300 are
girls. Find the ratio of :
Number of boys to the total number of

students.

o Watch Video Solution

12. Cost of a dozen pens is Rs. 180 and cost of
8 ball pens is Rs. 56. Find the ratio of cost of a

pen to the cost of a ball pen.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ahr1SHU2VEwX
https://dl.doubtnut.com/l/_LfX1RdS1FxEJ
https://dl.doubtnut.com/l/_C979jNnka5eF

13. Divide 20 pens between Sheela

Sangeeta in the ratio 3 : 2.

and

o Watch Video Solution

14.Given A:B=4:3.find Aif A+ B =28.

o Watch Video Solution



https://dl.doubtnut.com/l/_C979jNnka5eF
https://dl.doubtnut.com/l/_OdE8WjmBOA6I
https://dl.doubtnut.com/l/_FOYlCKkftA0G

15. Given PQR is a straight line and
PQ: QR =37.

Find OR : PQ

o Watch Video Solution

16. If the ratio of male teachers to female
teachers in a school is 2 : 5, find the total
number of teachers in the school, if the

number of female teachers in the school is 25.

° Watch Video Solution



https://dl.doubtnut.com/l/_KBadgUmxfV10
https://dl.doubtnut.com/l/_wMY4n2J0Z4GJ

17.1f 15 pens cost Rs. 35, what is the cost of 39

pens?

o Watch Video Solution

18. If the cost of 30 pencils is Rs. 240, what is

the cost of 18 pencils?

o Watch Video Solution



https://dl.doubtnut.com/l/_wMY4n2J0Z4GJ
https://dl.doubtnut.com/l/_Zm8QqYj3TYyH
https://dl.doubtnut.com/l/_20KJFp2qGZwD

19. If 3 scales cost Rs. 18. Find the cost of 1

scale.

o Watch Video Solution

20. The cost of 5 balls is Rs. 40. What is the

cost 10 balls?

o Watch Video Solution



https://dl.doubtnut.com/l/_73kZRXfcI2PV
https://dl.doubtnut.com/l/_raL4eiGvWzIA

21. The cost of 5 books is Rs. 40. What is the

cost of 7 books?

o Watch Video Solution

22. The cost of 3 bottles is Rs. 69. Find the

price of 8 such bottles.

o Watch Video Solution



https://dl.doubtnut.com/l/_XVAJKHfuvcfq
https://dl.doubtnut.com/l/_3z4cNtUBwcx5

23. If the cost of 5 ice creams is Rs. 15, find the

cost of 9 ice creams.

° Watch Video Solution

24. A truck runs 495 km on 18 litres of diesel.
How many kilometers can it run on 34 litres of

diesel?

° Watch Video Solution



https://dl.doubtnut.com/l/_p7qBngaeissh
https://dl.doubtnut.com/l/_GdIbWDSNCcmX

25. 12 men can reap a field in 25 days. In how

many days can 20 men reap the same field.

° Watch Video Solution

26.In an army camp, there were provisions for
425 men for 30 days. However, 375 men
attended the camp. How long did the

provisions last?

o Watch Video Solution



https://dl.doubtnut.com/l/_bsxnn89WxWrD
https://dl.doubtnut.com/l/_u1uyUtOWe5zb
https://dl.doubtnut.com/l/_JJTJacjTcMI2

27.1f a car runs 320 km on 5 litre of petrol, how

much petrol will be needed for 160 km run?

o Watch Video Solution

Summative Worksheet

1. There are 30 boys and 20 girls in a class. The

ratio of the number of girls to the number of

boys is

A2:3


https://dl.doubtnut.com/l/_JJTJacjTcMI2
https://dl.doubtnut.com/l/_pkaOW48v4qMw

B.3:2

C.2:5

D.3:5

Answer:

o Watch Video Solution

2. There are 25 boys and 25 girls in a class. The
ratio of the number of boys to the total

number of students is


https://dl.doubtnut.com/l/_pkaOW48v4qMw
https://dl.doubtnut.com/l/_5CJKOZLksXGo

Al:2

B.1:3

C.2:3

D. 3:2

Answer:

o Watch Video Solution

3. The height of Apala is 150 cm. The height of
Pari is 120 cm. The ratio of theh height of

Apala to the height of Pari is


https://dl.doubtnut.com/l/_5CJKOZLksXGo
https://dl.doubtnut.com/l/_bdplYvKKZxED

A4:5

B.5:4

C.5:2

D.4:1

Answer:

o Watch Video Solution

4.The cost of a car is Rs. 3,00,000. The cost of
a motorbike is Rs. 50,000. The ratio of the cost

of motorbike to the cost of car is


https://dl.doubtnut.com/l/_bdplYvKKZxED
https://dl.doubtnut.com/l/_zjm6vrFSeZ77

A1:6

B.1:5

C.1:4

D.1:3

Answer:

o Watch Video Solution

5. The speed of Shubham is 6 km per hour. The
speed of Yash is 2 km per hour. The ratio of the

speed of Shubham to the speed of Yash is


https://dl.doubtnut.com/l/_zjm6vrFSeZ77
https://dl.doubtnut.com/l/_BFZNYHPXIUNT

A2:3

B.3:1

C.1:3

D. 3:2

Answer:

o Watch Video Solution

6. The length and breadth of a rectangular
park are 50 m and 40 m respectively. Find the

ratio of the length to the breadth of the park.


https://dl.doubtnut.com/l/_BFZNYHPXIUNT
https://dl.doubtnut.com/l/_E2S1h7xzuq9L

A.4:5

B.4:1

C.5:1

D.5:4

Answer:

° Watch Video Solution

7.Theratio40cmto 1 mis

A 2:5


https://dl.doubtnut.com/l/_E2S1h7xzuq9L
https://dl.doubtnut.com/l/_sQu6OZDncU0I

B.3:5

C.4:5

D.5:2

Answer:

o Watch Video Solution

8.1n a family, there are 8 males and 4 females.
The ratio of the number of females to the

number of males is


https://dl.doubtnut.com/l/_sQu6OZDncU0I
https://dl.doubtnut.com/l/_TCySGgCAgn3d

Al:2

B.1:4

C.1:8

D.2:1

Answer:

o Watch Video Solution

9. Which of the following ratio is equivalent to

2:37


https://dl.doubtnut.com/l/_TCySGgCAgn3d
https://dl.doubtnut.com/l/_TDHiey5tQihE

A4:8

B.4:9

C.6:9

D.6:12

Answer:

o Watch Video Solution

10. Which of the following ratio is not

equivalent to 10 : 5?7


https://dl.doubtnut.com/l/_TDHiey5tQihE
https://dl.doubtnut.com/l/_CvCKVrozc1Tt

Al:2

B.2:1

C.20:10

D.30:15

Answer:

° Watch Video Solution

11. Find the ratio of number of circles and

number of squares inside the following


https://dl.doubtnut.com/l/_CvCKVrozc1Tt
https://dl.doubtnut.com/l/_oM7wI6Rsjk3R

rectangle:

00000000
cooco OOno
OooOo

A 3:1

B.2:1

C.2:3

D.3:2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_oM7wI6Rsjk3R

12. There are 20 teachers in a school of 500

students. The ratio of the number of teachers

to the number of students is

A.1:20

B.1:50

C.1:25

D.25:1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_xPagfhZEoitW

13. The ratio of 25 minutes to 1 hour is

AT7:5

B.5:12

C.12:5

D.5:1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_xPagfhZEoitW
https://dl.doubtnut.com/l/_YXoRikrCd3RS
https://dl.doubtnut.com/l/_b5MA4bfZ5ry4

14. Out of 30 students in a class, 20 like cricket
and 10 like Hockey. The ratio of the number of
students liking Hockey to the total number of
students is

A3:1

B.1:3

C.2:3

D.1:2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_b5MA4bfZ5ry4

15. The cost of 1 dozen bananas is Rs. 30. The

cost of 6 oranges is Rs. 18. The ratio of the cost

of a banana to the cost of an orange is

A 3:2

B.2:3

C.6:5

D.5:6

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_b5MA4bfZ5ry4
https://dl.doubtnut.com/l/_zf9BBjFhuASI

16. The present age of Hari Kishan is 60 years.
The present age of Manish is 30 years. The
ratio of the age of Manish to the age of Hari
Kishan 10 years ago was

A.2:5

B.5:2

C.2:3

D. 3:2

Answer:


https://dl.doubtnut.com/l/_zf9BBjFhuASI
https://dl.doubtnut.com/l/_cSpVtt905ZGN

° Watch Video Solution

17. 100 students appeared in annual exami-

nation. 60 students passed. The ratio of the

number of students who failed to the total

number of students is

A 5:2

B.2:5

C.2:3

D.3:2


https://dl.doubtnut.com/l/_cSpVtt905ZGN
https://dl.doubtnut.com/l/_Z6Ouk2IaZvB6

Answer:

o Watch Video Solution

18. Rs. 100 are divided between Sangeeta and

Manish in the ratio 4:1. Find the amount

Sangeeta gets.

A. Rs. 80

B.Rs. 20

C.Rs. 60

D. Rs. 50


https://dl.doubtnut.com/l/_Z6Ouk2IaZvB6
https://dl.doubtnut.com/l/_Te3QGPhh7rWF

Answer:

o Watch Video Solution

19. Which of the following is true?

A.15:40: :10: 30

B.16:48: :25:75

C.40:60: :30:40

D.20:100: :30: 120

Answer:


https://dl.doubtnut.com/l/_Te3QGPhh7rWF
https://dl.doubtnut.com/l/_T0ZKEng1FjrY

° Watch Video Solution

20. Which of the following is false?

A.25g:30g: : 40kg: 48kg

B.81:91: :24h:27h

C.32m:40 m: 6 minutes : 12 minutes

D.25km: 60 km :: Rs.10: Rs. 24.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_T0ZKEng1FjrY
https://dl.doubtnut.com/l/_aB4t8yPwi0I5

21. Which of the followinng statement is not

true?

A4:7=25:9

B.Rs.5:Rs.25=12g:60g

C.30:80=6:16

D.12:36=14:42.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_aB4t8yPwi0I5
https://dl.doubtnut.com/l/_NRwAnkKMGBr5
https://dl.doubtnut.com/l/_mp5dpfIb19DR

22. The cost of 10 notebooks is Rs. 100. The

cost of 1 notebook is

A.Rs. 10

B. Rs. 100

C.Rs. 20

D.Rs. 5

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_mp5dpfIb19DR
https://dl.doubtnut.com/l/_WWqKe6NdW8jW

23. The cost of 1 dozen pens is Rs. 24. Find the

cost of 30 pens.

A.Rs. 40

B.Rs. 45

C.Rs. 30

D. Rs. 60

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_WWqKe6NdW8jW

24. The cost of 3 envelopes is Rs. 15. The cost

of 10 envelopes is

A.Rs. 20

B. Rs. 30

C.Rs. 45

D.Rs. 50

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_HTwpaH9OtcIF
https://dl.doubtnut.com/l/_dSdgXsRNrhru

25. The cost of 5 kg of tomatoes is Rs. 100. The

cost of 2 kg of tomatoes is

A.Rs. 20

B.Rs. 40

C.Rs.30

D.Rs. 50

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dSdgXsRNrhru

26. The cost of 20 m of cloth is Rs. 400. The

cost of 15 m of cloth is

A. Rs. 100

B. Rs. 200

C.Rs.300

D. Rs. 360

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_gFOhhDfnkEiu
https://dl.doubtnut.com/l/_FK087W0uBgSj

27.The salary of a month of an employee is Rs.

4000. The annual salary of the employee is

A. Rs. 48000

B. Rs. 24000

C. Rs. 12000

D. Rs. 8000

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FK087W0uBgSj

28. An aeroplane covers a distance of 5000 km

in 5 hours. How much distance will it cover in 2

hours?

A. 1000 km

B. 2000 km

C. 3000 km

D. 4000 km

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wwGtBRZcBLil

29. The fare for 5 tickets from Kroikalam to

Mathura is Rs. 150. The fare for 3 tickets is

A.Rs. 90

B. Rs. 60

C.Rs.75

D.Rs. 45

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_AF5IW012nbxp
https://dl.doubtnut.com/l/_lKe9C3fO5tMp

30. 150 kg of oil can be filled in 10 containers.

To fill 750 kg of oil, how many containers will
be required?

A.10

B. 20

C.40

D. 50

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_lKe9C3fO5tMp
https://dl.doubtnut.com/l/_EmSYoP416B6l

31. The cost of 8 almirahs is Rs. 8000. The cost

of 1 almirah is

A.Rs. 1000

B. Rs. 2000

C. Rs. 4000

D. Rs. 6000

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_EmSYoP416B6l

Hots Worksheet

1. The area of square ABCD is 144 cm? and the
area of square PQRS is 81 cm? and the area of
square PQRS is 81 cm?, find the ratio of the

side AB to the side PQ.

o Watch Video Solution

2. The area of square DEFG is 64 cm? and the

area of square WXYZ is 36 cm?, find the ratio


https://dl.doubtnut.com/l/_M0SZ9KRj8Dx9
https://dl.doubtnut.com/l/_fYS3Ol9jr4d3

of the perimeter of square DEFG to the

perimeter of square WXYZ.

° Watch Video Solution

@ & —
3 P Q ) R

The length of the straight line PQR is 22 cm. If

PQ: QR m =4: 7, find the length of PQ.

o Watch Video Solution



https://dl.doubtnut.com/l/_fYS3Ol9jr4d3
https://dl.doubtnut.com/l/_l1TN9pYK6aHt

4. The tax on the income of a teacher is Rs.
360. If the income of the teacher is Rs. 24,000,

find the ratio of the tax to the income.

o Watch Video Solution

5. A school has 600 students. The number of
boys in the school is 360. Find the ratio of the
number of girls to the number of boys in the

school.

° Watch Video Solution



https://dl.doubtnut.com/l/_JKCpvZ0wxIuN
https://dl.doubtnut.com/l/_nOpyMMxHuSEF

6. PORS is a straight line. PQ =2 cm and PS =40

cm.If PR: RS=7:3,then QR in cm is:

A. 12

B.10

C. 26

D. 28

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_nOpyMMxHuSEF
https://dl.doubtnut.com/l/_083SEVTKAt1H
https://dl.doubtnut.com/l/_gAAJuYLSrr26

7. A sum of money is divided into three parts

in the ratio of 2 : 3 :4. The largest part is Rs.

140. The total sum of money is:

A.Rs. 540

B.Rs. 315

C.Rs. 310

D. Rs. 360

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_gAAJuYLSrr26

8. A total of 500 pieces of sweets is to be

divided among Radha, Ahmed and Krishna

respectively in the ratio of 3: 8: 14. How many

pieces of sweets will Radha get?

A. 60

B. 80

C. 160

D. 280

Answer:

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_oZEJ9PsIPqYG

3
o.If 1 of the property costs Rs. 15,000 what is

1
the cost of 3 of it?

A.Rs. 16,000
B. Rs. 20,000
C. Rs. 14,000

D. Rs. 10,000

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_oZEJ9PsIPqYG
https://dl.doubtnut.com/l/_x6yZTWhUEDCM

10. If 50 kg of wheat cost Rs. 550 what is the

cost of 11 kg?

A.Rs. 150

B. Rs. 121

C.Rs. 125

D. Rs. 110

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_x6yZTWhUEDCM
https://dl.doubtnut.com/l/_j5TYp6NaQ0Kw

11. If Ramya types 180 words in 4 minutes. How

many words will she type in 9 minutes?

A. 405

B. 450

C. 540

D. 504

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_TkVRUq36Cjti
https://dl.doubtnut.com/l/_prozTrnCILAI

12. If there are 4000 pineapples in 50 boxes.

How many pineapples will be there in 35

boxes?

A. 2000

B. 2700

C. 3500

D. 2800

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_prozTrnCILAI
https://dl.doubtnut.com/l/_vTqSMbsSyTev

13.If 10 cans contain 500 litres of milk. Then in

how many cans 200 litres of milk can be filled?

A5

B.1

C.2

D.4

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_vTqSMbsSyTev

14. 1500 sheets are required to make 100

notebooks. How many sheets will be required

to make 12 note books?

A. 180

B. 200

C.120

D. 100

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_uadYJRCX1VD1

2
15. If 3 of the property costs Rs. 1200, then

what is the cost of the remaining property?

A. Rs. 1,200
B. Rs. 600
C.Rs. 900

D. Rs. 1,800

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_qk3MfL0gcFuu
https://dl.doubtnut.com/l/_YabRXTU28KWj

4
16. If gth of strength of a class is 80. What is
the total strength of class?
A. 20
B. 100
C. 110

D. 90

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_YabRXTU28KWj

17.1f a train covers 200 km in 5 hrs. How many

km will it cover in 85 hrs?

A. 320 km
B.350 km
C.340 km

D. none of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0oQvWIuficpv
https://dl.doubtnut.com/l/_b1Y5LsIsLdDw

18. If there are 4000 oranges in 50 boxes and

the cost of 400 oranges is Rs. 120. What is the

cost of boxes containing 4000 oranges?

A. Rs. 1,600

B. Rs. 1,200

C.Rs. 1,800

D. Rs. 4,800

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_b1Y5LsIsLdDw
https://dl.doubtnut.com/l/_XbyEFd5VLPWU

1 2
19. If gfrd and gfrd of the property costs Rs.
600 and Rs. 1200 respectively. What is the cost
of total property?
A.Rs. 1,200
B.Rs. 1,500

C. Rs. 1,800

D.Rs. 2,400

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_XbyEFd5VLPWU

lit Jee Worksheet

1. The ratio of Ali's age to that of his younger
brother is 7 : 5. If his younger brother is 15
years old, then Ali's age in years is:

A.18

B.17

C. 21

D. 28

Answer:



https://dl.doubtnut.com/l/_oQzsj5QHxR7K

\ o Watch Video Solution



https://dl.doubtnut.com/l/_oQzsj5QHxR7K

